
l;=g ldlt vf]k s]Gb| ;xeflu x'g] ljBfno

dfp)^ dsfn' O{~ln;=af]l*~ :s''n

h'lk^/ O{~ln;=af]l*~ :s''n

 !fg Hof]tL O{~ln;=af]l*~ :s''n

 ;u/dfyf lxdfn O{~ln;=af]l*~ :s''n

 nfOl^~ uf]nf]an O{~ln;=af]l*~ :s''n

k"jf{`rn Ps]*]lds 

k"jf{`rn kjlns O{~ln; af]l*~ :s'n

 nflnu'/f; O{~ln; af]l*~ :s'n

 k|f]u|]; O{~ln; af]l*~ :s'n

 ;kmn l;$fy{ O{~ln; af]l*~ :s'n

^]G*/ lkm^ O{~ln; af]l*~ :s'n

 b'nf/L dlN^kn O{~ln; af]l*~ :s'n

a|fO^ ˆo'r/ O{~ln; af]l*~ :s'n

 db/Nof* O{~ln; af]l*~ :s'n

 k|eft ls/)f O{~ln; af]l*~ :s'n

 lxdfnog O{~ln; af]l*~ :s'n

;'ljhLd'/ O{~ln; af]l*~ :s'n

Sj]i^  O{~ln; af]l*~ :s'n

:sn/ xf]d O{~ln; af]l*~ :s'n

 afn ;bg Ps]*]ld O{~ln; af]l*~ :s'n

 sflnb]lj O{~ln; af]l*~ :s'n

 >LOGb|k'/ O{~ln; af]l*~ :s'n

 cf]l/lhg O{~ln; af]l*~ :s'n

lqj]l)f  O{~ln; af]l*~ :s'n

  afn Hof]tL O{~ln; af]l*~ :s'n

l;$fy{ O{~ln; af]l*~ :s'n

b /fO{lh~ O{~ln; af]l*~ :s'n 

 afn k|ltef O{~ln; af]l*~ :s'n

O{Gb|k'/ gd'gf O{~ln; af]l*~ :s'n

 x/}rf df]*n O{~ln; af]l*~ :s'n

;fd'bflos ;/:jtL O{~ln; af]l*~ :s'n

 g/l;+x d]df]l/on O{~ln; af]l*~ :s'n

hgtf dflj x/}rf j*f g+ 1

gj Hof]lt cfwf/e't ljBfno

b]jtf cfwf/e't ljBfno 

njln PGhn O{~ln; af]l*~ :s'n

9 >Lv)* df=lj= j*f g+ 3 >Lv)* df=lj= j*f g+ 3

10 hgtf dflj lqo'uf j*f g+ 3 hgtf dflj lqo'uf j*f g+ 3

11 ;flhnfn df=lj= j*f g+ 6 ;flhnfn df=lj= j*f g+ 6

Hof]lt df=lj j*f g+ 6

ul%of cfwf/e't ljBfno

13 k`rfot df=lj= j*f= g+ 7 k`rfot df=lj= j*f= g+ 7

14 lzIff lgs]tg df=lj j*f g+ 8 lzIff lgs]tg df=lj j*f g+ 8

dfp)^ dsfn' O{~ln; af]l*~ :s'n

k"jf{`rn Ps]*]lds 

a|fO^ ˆo'r/ O{~ln; af]l*~ :s'n

;'ljhLd'/ O{~ln; af]l*~ :s'n

l;$fy{ O{~ln; af]l*~ :s'n

d[uf}lnof df=lj j*f g+ 2

Hof]lt df=lj j*f g+ 6

3

4

5

6

hgtf dflj x/}rf j*f g+ 1

 x/}rf df]*n O{~ln; af]l*~ :s'n

2078÷10÷17

2078÷10÷18

2078÷10÷19

lqUnjgjSWapk uxjikfydk

 lj/f^rf}s df]/u+

tklzn adf]lhdsf] ldltdf vf]k sfo{s|d ;`rfng x'g] x'bf+ ;DalGwt vf]k s]Gb|df uO{ ljwfyL{x?nfO{ vf]k 

nufpg' x'g ;Dk")f{ ljBfnonfO{ cg'/f]w ul/G% . 

;'rgf            ;'rgf              ;'rgf
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8

12

1

2



h'l* cfwf/e't ljBfno 

dbzf{ l;/fh'n cfwf/e't ljBfno

dx]Gb| df=lj= j*f g+ 11

lxdfno cfwf/e't ljBfno 

;'s'gf df=lj j*f g+ 10

r)*]Zj/L cfwf/e't ljBfno

hgtf df=lj a'wjf/] j*f g+ 9

dx]Gb| df=lj= j*f g+ 11

;'s'gf df=lj j*f g+ 10

2078÷10÷19

2078÷10÷19/20
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17


